= A
N = 0 &8 AFH Y & A AN
20148 &= =& 1 g L3I A M A
SN BARHD
Hu: LEBFLH
CHel: FEAE Y| (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
BAS A 13,123,895 12,334,555 789,340
2 541,000 539, 100 1,900
2 4,888,000 4,888,000 0
< 53,622 56,972 A 3,350
=2 7,641,273 6,850,483 790,790
~HEHAS A 3,698,878 3,112,978 585,900
=2 250,000 249,900 100
2 1,588,000 1,588,000 0
2 1,860,878 1,275,078 585,800
& X QAT 3,000,932 2,501,136 499,796
=2 250,000 249,900 100
2 1,588,000 1,588,000 0
2 1,162,932 663,236 499,696
S>EHFANE 2Y 13,448 13,588 A 140
201 2Bt 13,448 13,588 A 140
02 2229 13,448 13,588 A 140
OIN&E=Y SRl 6,860 7,000 A 140
OYUEN 2ZHFAIE X 22/ (20 A&
2) AX 2,940,0008 * 14l 2,940 3,000 AB0
OMEISIA =AY Aot A28 (2
ol &F R 2H) 22X 1,306,6662 * 30HA 3,920 4,000 A 80
2EEA X2 3,494 3,558 N
201 Y2 3,494 3,558 N
01 AL 22| H 1,970 2,010 A40
Oolgetat|] 1,970 2,010 240
OZS&A HOYESE (20 aEY)
AX 11,6002 * 5000A * 23 1,160 1,200 240
02 2229 1,524 1,548 A24
OIAN&EXH SR 1,176 1,200 A24
OSE&EA SA22H (20 aEZ)
2R 98,0008 * 12044 1,176 1,200 A24
AAZ ESMY DI et Ax Y 357,000 357,000 0
=2 250,000 249,900 100
2 107,000 107,100 A 100
201 2Bt 212,671 212,671 0
=2 148,970 148,870 100
2 63,701 63,801 2100
01 AL 22| H 192,671 192,671 0
Olgera|] 142,671 142,671 0
OEFMYINIHe A28 F¢
ZAX 10,000,0002 * 14! 10,000 10,000 0
=2 7,100 7,000 100
2 2,900 3,000 A 100
HotE MEIGHE =22AY 2,626,000 2,126,000 500,000
2 1,588,000 1,588,000 0
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H: 2B HIH
el FERQHLX] (St
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hws2
= 1,038,000 538,000 500,000
401 Al 2 HIZ 20| 2,626,000 2,126,000 500,000
2 1,588,000 1,588,000 0
2 1,038,000 538,000 500,000
01 A& HI 2,618,910 2,118,910 500,000
OFUAN MEHGIA 2AAY
23X 2,618,910,0008 * 14! 2,618,910 2,118,910 500,000
2 1,583,037 1,583,037 0
2 1,035,873 535,873 500,000
IIEELZDHAANE =E X 697,946 611,842 86,104
NE2LZDHLUANLE 2Y 697,946 611,842 86,104
201 LEr2 9| 220,311 132,707 87,604
01 A2 22| H| 143,987 55,277 88,710
Olget=24l] 143,987 55,277 88,710
ONERLzA Ml
2 60,9102 * 119.999€ * 128’ 87,710 54,000 33,710
ONEEL2ZHIAAE ISR 242
55,000,000 * 13 55,000 0 55,000
02 B2249H| 76,324 77,430 A1,106
O[Al & &H Xl 64,894 66,000 A1,106
ON=EELBIHIUALE SXBLIH (20 AR
2H) 22X 2,407,8332 » 12¥ 28,894 30,000 A1,106
206 24l 73,500 75,000 21,500
01 2 Hl 73,500 75,000 A 1,500
ONEELZZHEUANE SIAELH (2O MEY
) 22X 6,125,0008 * 122 73,500 75,000 A 1,500
Hole 2 3,608,755 3,468,387 140,368
=2 138,300 138,300 0
[= 45,347 49,097 A3,750
2 3,425,108 3,280,990 144,118
Hole H™el 624,042 528,722 95,320
=2 138,300 138,300 0
[= 45,347 49,097 A3,750
2 440,395 341,325 99,070
sorgly 208 AX ALY 0 7,500 27,500
[ 0 3,750 23,750
2 0 3,750 23,750
206 M2l 0 7,500 A7,500
= 0 3,750 23,750
z 0 3,750 23,750
01 24| 0 7,500 27,500
Osaduly {8 2 25 02 0 7,500 27,500
= 0 3,750 A 3,750
= 0 3,750 A3,750
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SHHIIS 22 113,514 109, 847 3,667
101 1Al 88,322 84,155 4,167
04 JI1ZtHZ22 s+ 88,322 84,155 4,167
OoXgJl 2ESI| ¢ AR
BE 42,2509 + 17Q + 86 61,770 58,685 3,085
OFg+g
BE 42,2503 * 17Q « 1.6 * 128 13,791 13,102 689
O4UEES (AL, A3, 08 ,4HH)
2 & 75,561,000& = 0.153 11,561 11,168 393
201 ¢er2d] 16,492 16,992 A 500
01 AF22t2lHl 9,400 9,900 A 500
olgxz] 1,000 1,500 A 500
OHJIZS SHME = HHIMEZ (20 LE
Z) 2 & 500,000& * 28 1,000 1,500 A 500
HIME =& Xl 45,493 46,340 A B4T
201 Let2dE] 45,493 46,340 A B4T
01 AtR2telHl 45,493 46,340 A B4T
Oflget=&Hl] 44,023 44,840 AB17
OHJIIEME s S22 MH(20HAEY)
2 & 68,5833 * 1204 823 840 A7
OHEL=X ML (20 AE2)
d & 163,333& * 120 19,600 20,000 A 400
OEEHIIS MBI (20 AEY)
3 & 65,333% * 300& 19,600 20,000 A 400
olgxz] 1,470 1,500 A 30
OHEZE SAstHel 2 AN (LMY
) 2 & 294,000& * 52 1,470 1,500 A30
AsHUY = a3 K= (XHHA) 100,000 0 100,000
301 et d = 100,000 0 100,000
NJIEEd=s 100,000 0 100,000
OgsHIIZS =HEAH3S XS
1002 =+ 1,000,000kg 100,000 0 100,000
HIOISMelAE X FHOS FUSFAY 1,333,863 1,333,893 A 30
Bl < &40HE X HH 6,280 6,500 A 220
201 L Er2A | 3,430 3,500 AT0
01 AtR 22l | 3,430 3,500 AT0
OHIFMIEX Al SSHIE(20AEL)
Z & 3,430,000& * 14 3,430 3,500 AT0
401 AIEHI L 2 CHYI 2,850 3,000 A 150
01 A& HI 2,850 3,000 A 150
OHIRIMIHE X AIEE2 EHIE(20HAMEZ)
23 2,850,000& * 13 2,850 3,000 A 150




SN H#PBEDY
B M2 2y
Sl HIISHRAL @ FHOIS FOSRAY CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
BHIZAL 29 3.803 3.613 190
101 Q121 bl 3,803 3,613 190
04JIAHIERSE S 3.803 3,613 190
BFIIEAE TEUN a2
AW 42,0508 * 1021 * 34 * 33 3,803 3,613 190
B2 HeINE 29 1,603,819 1,557,832 45,987
DRUSANAHE (AAANL)2Y 1,387,399 1,345,805 41,594
101 Q1248 49,120 46,978 2,142
VPR EEPTETPS 49,120 46,978 2,142
OFURARE 2y
A 42,0508 * 301 * 2492 31,561 29,985 1,576
OFURARH FHAY
AW 42,2509 * 391 » 53 6.718 6.383 335
OFUAANQY 4H2E2
2N 39,479,0008 * 0.153 6,041 5,810 231
201 Yer 2 bl 424,081 383,330 40,751
01 A2 22l 71,700 69,650 2,050
Olger+2H] 2,050 0 2,050
OA2ANE HIAAL4E
2,050,000 * 13l 2,050 0 2,050
02 B2l 352,381 313,680 38,701
O[ZZ23 % HAl 166,900 126,900 40,000
OAANE 2Y HII23
23 13,083,338 « 122 157,000 117,000 40,000
SINEETES T 164,081 165,380 A1,299
OUEE SN 24U (ZHME)
AW 2,391,7508 * 128 28,701 30,000 A1,299
206 TH 2 b 63,651 64,950 A1,299
01 2 bl 63,651 64,950 A1,299
OUNAL SHAZY (ZUME)
A 4,801,7508 + 128 58,701 60,000 ~1,299
SEHIIEHAANL(HBAE)2Y 68,439 66,613 1,826
101 Q1248 32,649 31,185 1,464
VPR EEPTETP 32,649 31,185 1,464
OFURARE 22y
HH 42,0508 * 201 » 2492 21,041 19,990 1,051
OFURARH FHLY
AW 42,2508 * 201 » 522 4,394 4,175 219
OFURAANRY 400 282
B 26,235,008 * 0.153 4,014 3,820 194
201 Yer2 bl 31,086 30,628 458
01 At 22l 2,792 2,288 504




SN B#PRHID
M Hol2 2y
ool HIZSHAL 29 CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
SICEEET 2,792 2,288 504
OWEE Kot +E2AMN +42
3 168,008 « 3 * 43| 2,016 1,512 504
02 BBl 28,294 28,340 A 46
CINEE-TEN I 17,114 17,160 ~46
OMAIE RN eIHI(Z0I&EL)
2% 8295008 + 122 9,954 10,000 ~46
206 TH 2 bl 4,704 4,800 96
01 HE I 4,704 4,800 £96
OB (Lo, 25 25 S)(20LEY)
2% 392,0008 + 128 4,704 4,800 ~96
TIWEEIIVAL 2 130,881 128,314 2,567
101 21248l 64,682 61,754 2,928
04JI2HIERSE S 64,682 61,754 2,928
omMgEEsE o=y
A 42,2508 * 491 + 2492 42,081 39,980 2,101
OMgEELEIR =54Y
2 42,2508 * 491 x 522 8,788 8,350 438
OMEEELEOR 40 2EE
2% 54,069,0008 * 0.153 8,273 7,884 389
201 L2l 54,439 54,560 A121
01 Ak 2reltl 5,979 6,100 A 121
Olget+gH] 5,979 6,100 A2
OMEBEBLEAL 2HME 2 (2L S)(
=0l EY) 2% 364,8348 + 122 4,379 4,500 A2
206 TH 2 bl 11,760 12,000 ~240
01 HE I 11,760 12,000 240
OS%EHI (Y, 25 25, H57H S) (20l
) 2% 480,008 + 122 5,760 6,000 £240
SagMyI| el 47,031 47,940 £909
SagMdl Hel 47,031 47,940 £.909
201 L2 | 44,531 45,440 £909
01 Ak 22l 44,531 45,440 £909
Olger+gH] 44,531 45,440 £909
OSASMYI| BILH ERS HME (20N
2) 2 3089 * 4,5000H 1,791 2,700 £909
Hame 666,986 616,015 50,971
Mg el el 258,611 216,902 41,709
MEMYI| 2R 2 202,522 200,589 1,933
101 21248l 98,015 93,961 4,054
04JI2HIERSE S 98,015 93,961 4,054
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BE 42,2509 « 591 * 2492 52,602 49,975 2,627
OEac B4 08 Fsay
BE 42,2508 = 501 « 42 « 128 10,140 9,634 506
OUsaE F4 2 AHEE R
2E 64,741,2508 * 0.153 9,906 9,427 479
O#AE & LMK SEHIIES =H U7
BE 42,2509 « 291 * 80 6,760 6,423 337
OdAME & TAX dEHII= =H A2 =5
+=g BE 42,2509 « 201 « 11 930 884 46
OBMAIR L TMX MEHIIS +H A2 400
SEE 2F 7,689,500& * 0.153 1,177 1,118 59
201 L2l 14,156 14,278 A122
01 AbR2teltl 6,006 6,128 A122
Olget=84l] 3,234 3,300 66
odgMy I 22 MAE(2HAEZY)
ZE 9,7368 » 250% 2,434 2,500 66
Ol=gtl] 2,772 2,828 A 56
OEZDISRY IIAE YL (20 AR
ZH 95,9298 * 14K E 1,344 1,400 56
206 M 2l 72,471 73,950 A1,479
01 MZ I 72,471 73,950 A1,479
O=cl=i& =% FL(SHMEZ)
ZE 3,1558 * 1000 » 11044 3,471 4,950 A1,479
405 TH&HF SHI 9,880 10,400 A520
01 Ttatl 2 Z 5 St 9,880 10,400 A520
OMEEE 2240 2L (20U
ZE 97,6008 * 500 4,880 5,400 A520
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01 Al& | 40,000 0 40,000
O[AI&HI] 0 0 0
OMNSZSIMHEH HESMY 2HSAHI(ME,
dsmHE ) 20,000,0008 » 2744 40,000 0 40,000
SEUNEZ 25 3,086 3,150 N64
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01 At 2teltl 3,086 3,150 N64
Olger+gdl] 3,086 3,150 ~64
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Z 38 12,000,000& * 14 12,000 11,200 800
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= 131,200 131,200 0
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